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1. Several weeks ago, the board of directors of Gordon Enterprises (GE) declared a dividend of $3.25 per share. Shareholders of record will receive their dividend at noon 43 days from today. The effective rate of return per year for GE is 25%. Suppose it is 11:59:59 a.m. and the stock goes ex-dividend at noon today. By how much would the stock price drop (all else equal) at the instant the stock goes ex-dividend? (Give answer to 6 decimal places.)
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2. Canadian Amalgamated Corp. (CAC), a company registered in Ontario, has 750 million shares outstanding. There are 100 million shares held as treasury shares (note: these cannot be voted). There are 11 seats on the board of directors and cumulative voting is used.

a) How many shares are issued?

# shares issued = 750 million + 100 million = 850 million shares

b) Suppose you own 5% of the outstanding shares and you wish to allocate an equal number of votes to each of 2 candidates. Assuming all 11 seats are up for election, how many votes can you cast for each candidate?

# votes/candidate = [5%(750M) × 11 votes/share]/2 = 206.25 million votes each

c) Assuming all 11 seats are up for election, how many shares must a group control in order to ensure that it can elect 3 candidates to the board?

# shares > (750M × 3)/(11 + 1) or > 187.5 million shares

d) The board of CAC intends to raise some new capital with an equity offering and has been advised that any additional shares sold to the public would likely sell to the public for $40/share. CAC’s authorized share capital is 1.2 billion shares. Ignoring issue costs, what is the largest amount of capital that CAC can raise from an equity offering without being required to amend its corporate charter?

CAC can sell 450M shares @ $40/share = $18 billion

(450M = 350M new + 100M treasury)

3. Clearly identify the basic procedure for issuing new securities to the public.

See text section 20.2, pp. 567 - 569

4. Explain fully the role of underwriters in the public issue of securities.

See text 20.3, pp. 570 - 576

5. Define and explain each of the following terms as they relate to long-term debt financing:

See text Chapter 21
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